LoNG DIVISION WITH A REMAINDER UP TO 100 (G-1)

Name:
SOLUTIONS
Time: Score: y—
67) 41015 92=445815 68) 1855 12=154.583
—368 -12
421 65
—-368 —-60
535 55
—460 — 48
750 70
~736 -60
140 100
- 92 - 96
480 40
—460 —-36
20 4
69) 3809 93=40.9569 70) 33562 52=645.423
—-372 —312
89 236
-0 —208
890 282
—-837 —260
530 220
—465 —208
650 120
—558 —104
920 160
—-837 —156
83 4
71) 58168 87=668597 72) 48833 99=493.262
—-522 —-396
596 923
—522 —-891
748 323
—696 -297
520 260
— 435 —198
850 620
- 783 —-5914
670 260
—609 —198
61 6 2
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